Dividing Decimals - 1
Find the quotient.

21+6= 55+2= 24.028 + 4 =
35.65+5= 75.15+9 = 54.3+ 6=
80.072+ 8 = 28.05+5 = 113.4+9=
124.6+7= 7742+ 7= 29.13+3=
43.74+3 = 128.064 + 6 = 58.5+9 =
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Dividing Decimals — 2
Find the quotient.

54+02= 158 +0.4 = 1476 +7.2=
375+25= 4032+21= 0.06 +0.3=
19.18 + 54.8 = 468 +18= 092+04=
0.15+0.2= 59.8+23= 115+25=
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Dividing Decimals - 3
Find the quotient.

06+04= 09+12= 522+18=
1625+05= 147.25+155= 55.25 +16.25=
468 +0.3= 15.19+245= 0.08+04=
266 +0.7= 255+15= 23.92+5.2=
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Dividing Decimals — 4

Find the quotient.

0.1+04= 89.5+05= 48+16=
0.925+125= 0.18+0.6= 3.68+23=
408+12= 09+18= 1.8+09=
0.024 +0.3 = 432+3.6= 425+17=
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ANSWER

Find the quotient.

21+6=35
35.65+5=7.13
80.072 + 8 = 10.009
1246+7=178

43.74 + 3= 14.58

54+0.2=27
375+25=15
19.18 + 54.8 = 0.35

0.15+0.2=0.75

06+04=15
162.5 + 0.5= 325
4.68+0.3=15.6

2.66+0.7 =3.8

0.1+0.4=0.25
0.925 +1.25 = 0.74
408+12=34

0.024 +0.3= 0.08

Dividing Decimals — 1

55+2=275
75.15+9=8.35
28.05+5=5.61

77.42+7=11.06

128.064 + 6 = 21.344

Dividing Decimals — 2
15.8+0.4=39.5

4.032+2.1=1.92
468+18=26
59.8 + 2.3 =26

Dividing Decimals - 3
09+12=0.75

147.25+155=95
15.19 + 24.5 = 0.62
255 +1.5=0.25

Dividing Decimals - 4

89.5 + 0.5 = 179
0.18 +0.6 =0.3
09+1.8=0.5

4.32+36=1.2

24.028 + 4 = 6.007
54.3+6=9.05
1134+9=126
29.13+3=9.71

58.5+9=6.5

1476 +7.2=2.05
0.06 +0.3=0.2
092+04=23

115+25=4.6

522+1.8=29
55.25 +16.25 = 3.40
0.08+04=02

23.92+52=4.6

48+16=3
3.68+2.3 = 1.6
1.8+09 =2

4.25+1.7=0.25






